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Instructions for the Candidates

Write vour roll number in the space provided on the top of

this page.

This paper consists of fifty multiple-choice type of questions.

At the commoencement of examination, the question booldet

will be given to vou. In the first 5 minutes, vou are requested

to open the booklet and compulsorily examine it as below :

(i} To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do notaccept
a booklet without sticker-seal and do not acceptan open
booklet,

(i1} Tally Lhe number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty bookletls due to pages/ queslions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

{111} After this verification 1s over, the l'est Booklet Number
should be entered on the OMR Sheeland the QMR Sheet
Number should be entered on this Test Booklet.

Fach item has four allernative responses marked (1), (2), (3)

and {4}, You have to darken the circle as indicated below on

the correct response against cach itom.

Example: (1) ) @ (1) where (3)1s the correct response.
Your responscs to the items are 1o be indicated in the OMR
Sheet given inside the Booklet only. If vou mark vour
response at any place other than in the ciecle in the OMR
Sheet, 1t will not be evaluated.

Read instructions given inside carefully.

Rough Work 1s to be done in the end of this booklet,

Il vou wrile vour Name, Roll Number, Phone Number or
put any mark on anv part of the OMR Sheet, except for the
space allotted for the relevant entries, which mav disclose
vour identily, or use abusive language or employ anv ather
unfair means, such as change {Jf response by scrate hll'lU or
using white fluid, vou w ll[ render \c}mwli l[ah[(* Lo
disqualification.

You have to return the original OMR Shect to the invigilators
at the end of the examination compulsorily and must not
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however, allowed to carry original question booklet and |10, Shgel el / Tlel STA Wee U Rl & TI0T i |
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Note 1 This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  Read Assertion (A) and Reason (R) and answer using the code given below ;

Assertion (A) : The preamble o the constitution of India clearly indicates the ideals scl
betore the Nation.

Reason (R) : The ideals set before the Nalion are Justice, Equity, Fraternity of the
individual and unity and integrity of the Nation.

Code :

(1)  Both (A) and (R) are true and (R} is the correct explanation of (A)
(2)  Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A} is true but (R) is false

(4)  (A) is false but (R) is true

2. Arrange the [ollowing leading cases in order, pronounced by the Supreme Courl by using
the code given below :

(a)  Selvi v. State of Karnataka
(b)  Official Liquidator v. Dayvananda
(¢} LR Coelho v. State of Tamil Nadu

(d)  IPA. Inamdar v. State of Maharastra

1) (d), @), @) ®)
2) (), ©) (), @
B) (9, (b), (d), (a

(4)  (b), (c), (¢
I \H\H

by, (c
~assy [

HH\HHHHH 2
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A : 38 TA-IF § U=TE (50) gg-T9Fed ™ U9 § 1| U WY k4 (2) 3% |\t wvR arfard ©

1. fUskeA (A) 3R deh (R) =1 U8 3R A1 50 7T %z i Fer&d § W 3

IMURIT (A) : TG = FaTH F1 wearaT § T % w9047 F4ifd By mu sy =1 g w9 1
I T4 € |

ek (R) : TE o qHel MHiRE foFy U sTeyl =Afad o Wiq =4, gamdal, 9ge SR TF i
Tehdl Ud 1@ edl ¢ |

(1) (A) 3R (R) AT T € IR (R), (A) =l Tl SRS Ll 2 |

(2)  (A) 3T (R) BT W& & TR (R), (A) T Tl AN T2 H31 T |

2. = fou T me w1 weEd © fefataEa sl ammet w1, Ssadd e §R A 70 4R R e |
A TeTd hi

(a) oSl oM HAZh T

(b)  THERTE TREHTE SHH SATS

() RS hIcfs] 1M qHIg T4

(d) T TMER I TERE T4

he

(1) () (&), (), (b)

(2)  (d), (<), (b), (a)
a

)
3) (o) (b), (d). (a)
(£) (b, ( 1), (
I

x

N7 HHHHH\ HHWHHHH ;
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Which of the following statement is correct ?
(1) The Fundamental Duties are mandatory on all the persons
(2)  The Fundamental Duties have always been a part of the Constitution of India
(3} The Fundamental Duties have been added through an amendment to the Constitution
of India
(4)  The Fundamental Dutics can be enforced by Writs
4. Read Assertion (A) and Reason (R) and answer using the code given below

Assertion (A) : No person is cligible for appointment as Governor unless he 1s a citizen of
India and has completed the age of Thirty Five Years.

Reason (R) : FHe 1s debarred from hoelding any other office of profit during his term of
office.

Code :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)  Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is [alse.

(4)  (A) is [alse but (R) is true.

5.  Which one of the [ollowing pairs is correctly matched with regard to the provisions of the
Constitution of Tndia ?

(1)  Art 352.... Effect of proclamation of Emergency

(2)  Art A53... Application of provisions relating lo distribution of revenues while a
proclamation is in operation

3 Art 354.... Determination of executive powers of the Union, durine emergency
L3 L} 4

(4)  Art 355.... Duty of the Union to protect States against external ageression and internal
disturbance

6.  Which one of the following pairs is notl correctly matched with regard to constitutional
amendment ?

(1) The Constitution (Seventh Amendment) Act ... 1956.
(2}  The Constitution (Fourtecenth Amendment) Act....1962.
(3)  The Conslitution (Thirty First Amendment) Act.....1973.

(4)  The Constitution (Iortv Second Amendment) Act.....1975.

assn ([N :
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3. fefafEd § 9 -9 97 62 8 ?
(1) Tifer FdeA 94t faqal = forg =T © |
(2)  HifcTeh heied 9N § HRA & HiAHE & T ' 2 |
(3) HifcTeh Faed URA o "9 | T HHE % 1A H SIS 0 F |
(4) HIT® e T2 & g an] T S 6 ¢ |
4, AfeRYT (A) 3R a9 (R) i U 3T T fau 77U e & Hemar ¥ 3w T
ATURYT (A) : IS |l SHTHK AU o &I H YR & (o0 78 T 913 720 ¢ 516 9ok [ 98 {9
1 Ueh MG 81 81 1K 399 Ydr 6] 1 317 9 7 L @l 7|
ek (R) : T Ik AT o GIA TNY o TRl 317 U & ¥R & H Toafsid fean
3
he
(1) (A) 3R (R) AT T € IR (R), (A) il G&I AR L@l 2 |
(2)  (A) $IR (R) SF] W& © fh (R), (A) T TgI 7@ 81 3 ¢ |
(3)  (A) T T A (R) 79 T
(4) (A) TEd § IR (R) T8 B
5. Tr=fafed § 9 =E-91 470 IRa & S99 % 3ueHl % g9y | gofad § 7
(1)  3Tg=8 352.... AT hi ITHWUN 1 YHTE
(2)  SAT=oe 353.... ISHINU <k Tl H @ oh §HY UsEd of Toqeul | Helfed STl hl ] gl
(3) TS 354.... STUTGHTA h QI O i wRIEwA vl w1 fuf
(4)  SAT=EE 355.... e SATRHAY Us Adiieh ITgel & Uid T4l skl T&T ki =] HH =] gl
6. TEATAREd § | SHM-H g8 HH1eh §9H <k Held § gHfad =@l ¢ 7
(1) dfgu (Traar weres) sifafw=m 1956,
(2) dfgem (=Fegal "eea) sIHan,. 1962,
(3) HiFH (ZewRdmmen Hunee) @fufran 1973,
(4) "foam (=FATEa dwyd) sAtatem 1975,
S T —
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7. Match List-I with List-II and give the correct answer by using the code given below the lists .

List-1 list-11
(a)  The principles of constructive resjudicata are (1)  Woman's Education Trust V.
also applicable to writ petition State of Harvana

(b)  Writ petition dismissed for want of prosccution (i) M. Nagabhushana V. Statc of
can be restored Karnataka

(¢} Direction given by the High Court under Article (i) Ratan Singh V. State of

226 cannol be altered by the State Government Rajasthan
(d)  The disposal of several wril pelitions in a batch ~ (iv) V. Porukulty Mannadissior
by a single order would be permissible if facts of V. State of Kerala

all cases are similar or almost similar
Code :
(@ (b) (0 (d)
() @) G @) )
) Gi) (v @O ()
() @) ) Gv) G
@) (v @)@ ()

8.  “Judges do not make law, but only declare what has always been law.” This statement is of :

(1)  Salmond (2)  Blackslone (3)  Willis (4)  Allen

9, Which of the following statoments 1s/are correct in regard to a valid custom ?
(a)  The custom has to possess a sullicient measure of antiquity.

(b)  The custom musl have been enjoyved “as of right”.

(c)  The custom need not to be consistent with other custom in the same area.
(d)  The custom must be certain and precise.

Code :

(1) Only (a) and (b) arc correcl. (2)  Only (a), (b) and (¢) are correct.

(3)  Only (a), (b) and (d) are correct. (4) (a), (b}, (¢} and (d) all are correct,

assn ([N 6
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-] -1
e g =g < fagid e aifeeristi ™ (i) W@ e e sHM giamn
YIS o SA9TE H QIS ohi T5 ATk (if)  TH. ARTYH SAH hAZh TG
"3:} 4 a:::ra—l- G'ﬂunl %_l
e 226 % FAdTd Ioa A g fom (iil) T THg = TS O

-

T 9 I9 LN g A21 9fEfdd Toan < Jehal |

-,

Ueh Wohel 3TQYT GRI e Rz Afaamell s uan | d (iv) ol d%ael
M2 & o1 29 afd § TAf grit Stefe | e T4
HIHe] 37 999 Wk |H 97 S04 Us 9979 B |

(a) (b) (o)

OARvaL F M

[

(1y (i) (i) (v) (i)

(2) (i) (v) @ (i)

3) () @) (v) (i)

(4) (v) (@) @ (i)
8. ' A AR S €, 9 9 SHIN Y HMA @l ¢ T SHeh! HEu G ¢ 17 98 hUH

frefafes o o fram § 72

(1) weETs (2) = (3) faferm (4) T
9. fafumrr wfg o vy o frafafas =uai © 9 #9-91/%0-9 98 8/ 7

(a) &I H gHIe GUddl 2H1 =18y |

(b)  ®Ig =1 ‘ATHER' o BY H Grer Il =12y |

(c) g TH &7 o fhdl 310 wig & Y WG T=va® T < |

(d) &g EvEs ®9  MivEd 3R 39 21 =iey |

che .

(1) TOF (a) 37 (b) T £ | (2)  TaF (a), (b) 3R (0) WL 2

fak (a), (b) 317 (d) W& (4)  (a), (b), (c) 3T (d) Tt =&l T

Nasst \HH“ TR WHH\H 7

Paper-11
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10.  Match List-I with List-II and select the correct answer using the code given below :

List-I List-1I
(Theory) (Jurist)
(a)  Scientific Positivism (1)  Herbert Spencer
(b)  Social Selidarity (if)y  Gierke
(c)  Organic Theory of Society (iif)  Auguste Comple

(d)  Theory of reality of group personality  (1v)  Duguit

Code :
(@) (b) (¢} (d)
(1) ) (v) ) (1)
(2)  (m) (v) @ M)
(3) ) (v) () ()
i

11. Malch List-I with List-IT and select the correct answer using the code given below

List-I List-II
(Jural correlatives)
(a) Right (1)  Liability
(b)  Privilege (i1)  Disability
(c)  TPower (i11)  Duty
(d)  Immunity (iv) No-right

@ (b) (e} |
(1 ) @ ()
(2) (i) (v) (@) (i)
(3) (i) (1) () |
#4) w1 (1) |

12.  “Ownership denotes the relation betwoeen a porson and an obyect forming the subject-matter
I F ] A ]
of his ownership.” This observation was made by :

Salmond Pound (3)  Holland (4) Savigny

L \HHHHWH\HHH ;

a1 HHHHH
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10. WEI-1 3R -1 1 GHIAd ShiTSE A A< {2 70 2 = gar L 920 39 S,

gell-I G-11
(Tagia) ( Terterer=ir )
(a) ASITH FAGEE (i) Bele TWE
(b) HTHIS Tehs[2al (iiy STdh
(c) HHS 1 HEgd fHgi (iii) 37T L
(d) wHfesh =Hferdel ki ardfeehd] =l fagid  (iv) BHE
ehd
(@) (b) (¢} (d)
() 6y v @) (1)
(2) () (@v) (@) (i)
(3) () (v) @) ()
(4)  Ov) @@ @ (1)

11.  HE-1 317 F=i-11 1 GHIAd shiTSE AR A< (G M0 2 1 gam L 920 39 SMaT

=il-1 YeAT-11
( faferma wgees )

(a) SATHFR i <l
(by  TorgrumeRR (i) TramEa
(c) ifem (iiiy haed
(d) S (iv) w75 Aferp 721
he

(@) (b) () (d)
() @ @ @) (v)
(2) (i) (v) (D (i)
(3)  u) (W) (Gv) ()
(4)  (v) (1 (i) (i)

12. ‘'wartuc fedl =afad s fordl o5 o &9 S8 999 ] 30T &l © S S§ Al 6 Tl o
forv—areg @ © "' fAefafEa o o free 7 fewi =67 of ?

et e B e ™

LIRS (2) TIEUE (3) BIcfe (4) "=

i
(T )

(1)
w—



www.prepp.in rrepp

13.

14.

13-

N-05817 HHW

Your Personal Exams Guide

Read the following statements and give the correct answer by using the code given below :

Assertion (A) 1 A perfoect duty 1s one which a person not merely ought to perform, but may
be justly compelled to perform.

Reason (R) : A perfect duly is one which is not merely recognised by law but enforceable.
Code :

(1) (A) and (R) both are correct and (R) is the correct explanation of (A).

(2)  (A) and (R} both are correct and (R) is not the correct explanation of (A).
) |
NN

A) is correct but (R) is wrong,

A) is wrong but (R) is correct,

In which of the [ollowing cases Judge Alvarez has apllv remarked, "The [undamental
principles of international law are passing through a serious c¢risis and this necessitates its
reconstruction. A new international law is developing which embodies not only this
reconstruction but also some entirely new clements” ?

(1)  Anglo - Norwegtan Fisheries Case
(2)  Aegean Sea Continental Shelf Case
(3)  Conditions of admission ol a State to the United States

(4)  International Status of South West Africa

Which of the following statement/statements is/are not correct 7

(a)  The words ‘International Law” were used for the [irst time by eminent British Jurist,
Jermy Bentham in 1780,

(b) ].5. Starke has remarked that international law is a “living and expanding code.”

(c)  DProf. Oppenheim has remarked that international law is the vanishing point of
jurisprudence.

(d) Holland has viewed that International law is mere a posilive morality.
Code :

(1)  Only (¢) is incorrect.

(2)  (a) and (d) both are incorrect.

(3) (b}, (L) and (d) are only incorrect.

(4) ), (¢) and (d) all are incorrect.

H H‘ ‘HH 10 Paper-II
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13. T=faiEd sweFi &) 9¢ R A fa 70 $2 &l 98 3 S <
IfURAT (A) :  Ueh W] Faed ag ¢ (o6 Tl =afaa g e S =61 07 3106 T8 5119 3 9l
FH S8 ] ohl A9 < oI, =maeird ditss & Jsiey Tehar S |
d@eh (R) U 9l wded 9% g S T g HE H1IF A ¥ alosk Yo gl
hd .
(1) (A) 3R (R) 3M ¥E1 § 3R (R), (A) 1 Tl SA FHIAT % |
(2)  (A) FIR (R) SF1 H&1 & o (R), (A) ! |l SR el Tl 2 |
(3)  (A) HEI B ©iHT (R) Teid ¥
(4) (A) T ¥ OffRA (R) Tl T
14, Trafafgd ® 9 g amel § oS STerels | 3k 21 femoft =61, ~“sfaisig fafy & Oiforss fogia wh
4T Hchc‘ o e TE § 3 38 T8 Ay AT RIS éWW fafsr ferenfem
Bl @I 2 T A hae g2 s 9i-gy 8l 1@l ¢ Siek 9 gl a8 AU aed |l
(1) wFar-re frert e
(2)  ufsEd Hi (HHg) Hifed2a 2o HHe]
(3) UH W2 F AARCE W2l H ¥IHA TH HI 9
(4)  <lAu Ofy=H SAhHR i ATEHE Had
15. freafafaa 8 8 sA-w1/9 wua 9d 78 5/8 7
(a) VI, ‘wauEr oty =1 vge o) ufag fafeyr fatbesmn, Sl sia™ R 1780 § sxadre foram ra
ol |
(b) SI.UH. Tk A fewmit =1 fo staugr fafy v “yea ud fawareie gigar g
(c) UMRER 3lAeY H feorull skt 2 for Tmivia fafy, fafa-vmes =1 ardi &g T
(d) Tide F 7ATE 3 sfatgr fafy shae e aegues Al 3|
ETR
(1) =had (c) Tord B |
(2) (a) SR (d) ST TTETE € |
(3)  HEA (b), (c) SR (d) 7T T |
(4.) o) R () gt Terd
e HUW WH il 1 Paper
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Which of the following is not a theory of relationship between international law and municipal

law ?

1) Specific Adoption Theory

&) Dele gation Th COTY

(1)
(2)
(3)  Declaratory Theory
(4)

4 Monism

Match List-I with List-Il and give the correct answer by using the code given below the lists

List-I List-II
(a) Deasion given by the Permanent Court of (i) The Right of Minorities in the
Arbitration upper Silesia (Minorily schools)
(b)  The principle/doctrine of Forum (if)  Pious Fund case

Prorogatum was cnunciated in the case

(¢) A leading case on “reprisal “ is : (i11) The Asylum(Colombia v. Peru) case
(d) Case decided by Inlernational Court of (iv) Naulilaa Incident

Justice under "Contentious Jurisdiction’

(@ (b)) () |
() @ @) |
(2) )y @) (v)
) (i) (v) @)
(3)  (w) () () |

Which of the following cases are not related to “recognition” ?

(a)  Civil Air Transport Incorporated Co. v. Cenlral Air Transport Corporation
(b}  The Azantzaru Mendi case

(¢} Barcelona Traction case

(d)  United States v. Schooner

Code :
(1) O_‘nl}-’ (d) (2)  (a), (b) and (¢) only
(3) ) and (d) both (4)  (a), (b), {(c) and (d) all

N.ass17 HHHHHNH\HHHHHH LI

Paper-II
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ffafag § 9 & iaus fafy v vy fafy & = % 99y =1 1= fagia &6 €2

(1) fafew sitfiwoor fagrd (2) WS fagi
(3)  =mmeres fagrd (4) UHEAs

Geit-1 AR gei-11 =1 gafea sifee @R 5 fau 7 e %1 93 #3198 3w S

-1 Hell-11
(a)  HIEEH & Tl =g g fean man g (i) A THeATHar 4 sfeasEehi i

AR (STeqses fazm)

(b) Tl § wRA YRren # fagi ufawfed e e (i) enfifes Py omen

(c) “waie” TR woh SO T I A - (iii)  IIOT (SRl =1 SFH YE ) UHe
(d) ‘wfafetrenes sfymiar’ & saia Sy (iv) el se]

=TT B T07d |79

HE :

(@) (b) (e} (d)
() ) @ (v) (i)
(2) () Gy @) (iv)
(3)  (m) (v) Q) (1)
(4)  (w) ) () (1)

e

(a) Taferer wae Ziede TfAd el s9F 2l U 2912 ShgeH

(b) TSI Hel Y

(c) ST SR ha

(d) RS HH 99H ¥

-,

(1)  =Faa (d) (2)  (a), (b) 3T (c) Fae

(3) (o) 3R (d) T @) (a), (b), () 3% (d) T

s || (T
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Which of the following statement/statements is/are correct ?

(a)  The most important purpose of the United Nations is to maintain international peace
and sccurity.

(b)  The principles of the United Nations are provided under Article 2 of the U. N. Charter.

(¢} Section 6 of the U. N. Charter provides for provisions to withdraw of a Member-Slate
from the United Nations.

(d}  There are five (5) principal organs of the United Nations.
Code :
(1) Only (a) 1s correct. (2)  (a), (b) and {c) arc correct.

(3)  (a), (b}, (¢) and (d) all arc correct. (4)  Omly (a) and (b) arc correct.

In which of the following cases the Supreme Court held that “it is now well established that
in the absence of any rule of Hindu Law, the court have authority to decide cases on the
principle of juslice, equily and good conscience” 7

(1) Gurunath v. Kamlabai (2)  Lohar Amrit v. Doshi Janti Lal

(3) Sarastivali v. Jagadammbeai (4)  Munmna Lal v. Rajkumar

Match List-1 with List-II and indicate the correct answer using the code given below ¢

List-I List-II

(a) Vishwanath Agrawal vs Sarla Agrawal (i)  Divorce by mutual consent
(b)  Geeta Maugalani v Jagdesh Maugalani (ify Saptapadi
(c)  Manish Goel v Rohni Goel (1)  Cruelty
(d)  Vishnu Prakash v Sheela Devi (iv) Desertion
Code :

(@ ) (© (@
Ay ) @) G O
(2) (1) (i) (iv) (i)
(3) (u) (v) (@ ({)
4 @) (v () (1)

A Hindu Contracting Second Marriage during pendancy of appeal against the decree of
divorce is :

1) Vahd (2)  TInvalid (3)  Factum vahd 4y Void

(1) )
ass | I IRLTDI
I | IR O I Il Il
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frefafied § @ SH-9/9 ST T8 2/ 2

(a) EIF UP-HH A Wor AT WUl 3238 SARPA i TS e 70 A 2 |

(b) HHET TP-HH o f9ga F.0H. = o STI=8s 2 % STavd (G 70 ¢ |

() 7LUA. W H MW 6 H UF HEEA-UY 1 WAH TP H 5 & SUEY [§U T E |

(d) Tg TE-FH % I (5) THE AT )

ha
(1) hael (o) T 5| (2)  (a), (b) HR () I |
(3)  (a), (b), () 3R (d) FdT =T ¥ (4) T (a) AN (b) WA

(42 T'“‘f'“‘

efeiad areel H o 39 TrHe o Ioaan e 1 78 MY foear i e 7 genfid § g

fafy o fordl ey o fordl a9 o 9 29 T IMerd & 94 IR § foh o8 el s =, 91 301
Hefdaeh < fagid W T ' 7

(1) & S Kl &% (2) TIER Aqd =AM i Sl AT

(3)  EIEHTA] SHH ST (4)  H~ T I9H TS HAN

Gel-1 51R Gei-11 1 gafea v @) 9= f5u 70 % =61 790 =1 980 ST S

-1 HEI-11

(a)  TorgamTy STUare SHH GieT AU (i)  @oHl "gAaid o faae-fa=se
(b) 7T HETIAAT ST STEreT HAmieri (i) el
(¢)  H9 TE SH Ot e (i) TAegd
(d) Too yermr sAM e < (iv)  erfucge
%<
(@) (b) (o) (d)
(1) ) (v) () ()
(2) ) () Gv) (1)
(3) () (v) () (1)
(4) ) (v) () (1)
Rl Teg 3R foaR-Ta=ee &1 fSahl @ fa%g &l T2 e &l Aftaad & SRH oy e &
Tefefaa g 5 F 8 ?

(D) (2) HdY (3) EH dfde (4) A

(=%

‘ L
s | [N RL NI
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A Married Hindu Contracting Second Marriage after professing [slam, would be guilty of
offence punishable under :

(1)  Section 17 HM Act 1955 only

(2)  Section 494 IPC only

3

(3)  Scction 17 HM Act read with 5.494 TPC

(4)  Neither 5.17 nor 5.494.1PC
Which is notl the modern source of Hindu Law ?
(1)  Precedent (2) Tegislation

(3)  Dharamshaslra (4)  Justice, equity and good conscience

In which of the following case, the Supreme court held that “Triple Talag” would be treated
as a “Single Talag” and not a valid talaq ?

(1)  Bai Tahira Case (2) Tazlunbi Case
(3)  Mohd Ahmad Khan Case (4)  Shamim Ara Casc

Read Assertion (A) and Reason (R) and answer by using code given below ¢

Assertion (A) @+ An agreement would be void if both the parties to the agreement were
under a mistake as to a matter of fact not essential to the agreement.

Reason (R) : Because Section 20 of the Indian Contract Act so provides.
Code :
(1) (R) is correct , but (A) is incorrect.

(2)  (A) 1s correct, but (R) 13 incorrect.
(3)  Both (A) and (R) are correct,
()

4)  Both (A) and (R) are incorrect,

Match List-I with List-II and sclect the correct answer using the code given below :

List-I List-II

(a) Lapse of olfer (i)  Week v. Tybald
(b)  General offers (ii)  Henthon v. Fraser
(c)  Communication of proposal (i) Colfee Board v. CCT
(d)  Implied proposal (iv) Lalman Shukla v. Gauri Datt
Code :

@ (k) (e} (d)
M (v G O G
(2) () @ ) (iv)
G G) 0 (v )
(4 ) @@ Qv) (i)

JIERERRR ripen




www.prepp.in

e

d H | fogs 3iel Treq

é]

T =H 3799 <k 99T gHY Toreg s aren Tomnfed feg fefa
STOUY KT SN g 7

(1) U= TH TR 1955 i 91 17 Hoel

(2) oS T N 494 Faw

(3) A O HI Rl U 494 & WY Gf3T U UH U ki ¥ 17

(4) 7 % S AT AR 17 SR S A T AN 494

24, fa=fafes ¥ 9 sF-w1 fog fafy =1 syl =@ =€ © 2
(1) AT 2) faum
(3) v (4) A, | 3R wafadm
25. TirafEd § o fad w9l § I59as = 1 i e T diq aomes” s T deres” °qH]
ST 31 &Y defiah el W1 ST ?
(1) T qied 4 (2) TSI e
(3) HI. TRHE M %Y (4) THE AW HH
26. AFUTHYT (A) 3R T (R) 1 7¢ IR 14 ST T Fz = Tg@ar 8 3| S
AMTERYT (A) :  Teh IR 3 GRIEAfd H I TRT ST&1 Sk ok SIF1 o1 TeTehTY, 423 ohi Weh UHI oI <k
Ofd Ual & AT 9 S FR T STavIes Tg1 o |
R (R) FHifer ardg dfae sfufan &1 9 20 9 360 9 1 399y foar 771 €
TR )
(1) (R) T g oIfr (A) TTeTd € |
(2) (A) W8I § %A (R) 7o 3 |
(3)  (A) R (R) SH T L
(4)  (A) $IR (R) THI Tord © |
27. G-I 3R Geli-11 1 Gafera Fwieg 3R 99 5T 70 % 1 9417 T 98 39 ST
Heli-1 geil-11
(a) SR SO B (i) =k e feaies
(b)  HTH 3R (if)  ZUA SAH Heil
(c) T S YT (iii) IR G T T
() Toafead g (iv) A Y&l M TR g
he .
(a) (b} () (d)
(1) (iv) (i) (i) (ii)
(2) (W) (1) (1) (i)
(3) (ii) (1) ( ) ()
(i_L} (i) (iv) (i)
s [[[HIAFRAINAL 1
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“Consideration is the recompense given by the party contracting to the other” :
Above definition is attributed to
(1)  Tollock (2)  Justice Patterson

(3)  Cheshire and Fifool (4)  Blackstone

Which of the following slalement is correct ?

(1)  Acceptance mav be made in the manner prescribed or indicated by the offerer.
(2)  Acceplance has to be made in the manner prescribed or indicated by the offeree.
(3)  Acceptance has to be made in the manner prescribed or indicated by the offerer.

(4)  Acceplance need not be made in the manner prescribed or indicated by the offerer.

In which of the following cases law of frustration was applied ? Answer using code given
below :

(a) Paradine v. Jane
(b}  Taylor v. Caldwell
(c)  Krell v. Henry

(d)  Cricklewood Prcf)perty and Investmoent Trust Led. v. Lo ghtoﬂ’s Investmoent Trust Ttd.

Code
(1)  {(a) omly (2)  (a) and (b) only
(3)  (a), (b) and (c) only (4) (a), (b) ,(c) and (d)

Which one of the following
policy 1n India ?

cases enshrine the present position of the doctrine of public
(1)  Ramchand Hirachand v. Askar Nawaz Jung
(2)  Gherulal Parakh v. Mahadeodas

(3)  Muniammal v. Raja

(4)  Geeta Satish Gokarna v, Satish Shankarrao Gokarna

il
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“gfdther gE w1 HieE < 91l TeTsh g1 & S ool I 9fqgd g1

IuEd 9y forgia 1 off

=, r

(1) ™rfeh (2) Sife" UexEs

an

(3) =R ud (e (4) FIHEH

frferfea § 9 -9 2 95 & 7

(1) wErefa wearas () g fafea o ffde Ofa o =1 51 vt §1

(2) FEiHfa AR W w ol g fafea @ fafde Ofa o =61 s =it 71

(3) i gEEe (STRR) gR fafea =1 fafce T & =61 51 2l € |

[ a1

(4) TERid gEaEe® (STER) g fafed = M {fd 9 =i ST i S3d e8] o) ¢ |

frefafaa o o e wrmel 5 a8 aaar 1 [9gid @] R0 71 91?2 +i< 15U 170 &2 o1 SEaHTe i

=
OTAY G

(a) INTEM SAM S

(b) 2R Y FHesdd

(c) ohal ST

(d) Toraage 92 SR g=ehz 2 fo. oM o =2z 2e fa.

ha
(1) #Had (a) (2) HAA (a) FR (b)
(3) F (a), (b) ¥R () (4)  (a), (b) (c) 3T (d)

roeh

TferiEg & | Tond Acl H ¥d | olieh Aid b THGId ahi aadH TEIfd 9iassiyd &l & € ?

(1) UH=EE BRIEG a0 SERT Fa7s S

(2) HEE YR S9H HeeasH

[ ad

(3) OIS G U=

(4) T SATST MeR0] S HATYT IR IR

assw [NV t
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32. Read Asscrtion (A) and Reason (R) and answer using code given below :
Assertion (A) : A contract is a property in the nature of a promise supported by some
consideration upon which either the remedy of specific performance or that
of damages is available.

Reason (R) : Above principle is laid down in Sunrise Associates v. Govt. of NCT of Delhi.
Code :

(1) Both (A) and (R) arc correct.

(2)  Both {A) and (R) are incorrectl.

(3)  (A) is correct, but (R) 15 incorrect.

(4) (R) is correct, but (A) is incorrect.

33.  Which of the following stalement/s is/are correct 7 Answer by using the code below :
(a) In tort duty is imposced by law and 1s owed to the community at large.
(b) A tort is founded upon consent of parties.

(c) A tort is civil wrong for which the remedy is a common law action for liquidated
damages.

(d)  In tort ‘'motive’ for the violation of right is immaterial.

Code :
(1) Only (a) 1s correct. (2) (a) and (b) are correct.
(3} (a), (b) and (c¢) are correct. (4)  (a), (b), (c) and (d) arc correct.

34. Malch List-I (Name of defence) with List-II (Related case) and give the answer by using
the code given below

List-I List-II
(a) Plainliff a wrongdoer (i)  Nichols v. Marsland
(b)  Act of God (i)  Bird v. Holbrook
(¢} Inevitable accident (1)  Consolidated Co. v. Curtis
(d) Mistake (iv) Stanley v. Powell
Code :

@ () ©
1) Gv) ) @
@) (i) (v) ()
Gy G) () (v
@0 G )

(1v)
L] 2

assy
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32. MU (A) 3R ek (R) T¢ 31N A {0 70 %2 &l TeEd § T <
afrererd (A) ;. Hiag 35 ufake gr1 9afdd a=q & @EY #1 UF @d © foraeh o a7 a1 fafim
TG o1 ST9R a1 S g1 S9eled 2l € |
e (R) ST Tgid g THIEZE S=H T8 USemHl &5, fooell 9eshn | fA9iiid
ERIRIEIN
he
(1) (A) 3R (R) SFT BT 2
(2) (A) FR(R) ZHI 7T |
(3) (A) WEI &, @R (R) T B
(4)  (R) TRl g, eifhd (A) Terd ¢ |
33, T=faiEd § 9 &F-91/9 ®Ud 9l g/ 7 A+ S 70 %2 i §eEd 9 3w <
(a) SA9Hcd H Y21 Tafy g siferifua w1 <l § 3R =a9es &9 H ¥Hed <R gl ¢ |
(b)  AIFHT F&TRR] 1 FEAM T ST T & |
(c) U srumed fafae werdt gl € fogen fae su=m, gifuiia gt = fau fos fafia
RIS B B |
(d) 9% B, AfHET F Ioat=H F fau ‘g T B
he
(1) e (a) T T (2)  (a) SR (b) T T
(3) (@), (b) ¥R (c) TA (4 (@), (b), () 3 (d) W T
34.  TE-1( UiquTe AT T8 ) 1 Tei-11 ( Saiem e ) 3 gHlad $iteg s A fou 70 2 1 gan
1 Hal 3 gife
-1 TEll-11
(a) ST, Uk okl @) T sAm Afgere
(b) BeHd (i) € AW gieTe®
(¢) HINGHE gHE (i) FHETTSIS FOAT TT FHied
(d) Y (iv) E2del SHH qied
ha !
(@) (b) (o) (d)
(1) (v) () (1) (1)
(2) () (v) (1) ()
(3) {ii) (1) (v) (i)
(4) (i (i) (iif)  (iv)
N WHHW (A 2 Paper-i

prepp

Your Personal Exams Guide



www.prepp.in rrepp

o8
]

36.

37,

assy

Your Personal Exams Guide

Read Asscrtion (A) and Reason (R) and give correct answer with the help of code given
below :

Assertion (A) : The relations of partners infer se s that of principal and agent.
Reason (R) : T'he rules of the law of agency does not apply in case of their liability.
Code :

(1) Both (&) and (R) are true and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A} is right but (R) 1s wrong

(4) (A) is wrong but (R) is right

A servant 1s engaged by the master under
(1)  Contract of service (2)  Conlract [or services

(3)  Contract from services (4) Contract in services

Match List-I (Name of Rule) with List-II (Related case) and give correct answer by using
code given below :

List-I List-II
(a) Last opportunity (1)  Bernina Mills v. Armstrong,
(b)  Apportionment of damages (ii)  Davies v. Mann
(c)  Alternative danger (iif)  Shyam sunder v. State of Rajasthan
(d)  Identification (iv)  Vidva Devi v. M.I’. Road Transport
Corporalion

@ © © @
(1) (i) (iv) (i) (@)
@ O 6 6 W
@ G 6@ 0w
@ @)

DR
IARTETAY 2

iii)
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35. MU (A) 3R ek (R) & 7€ 3R 14 S0 T4 %2 &l Ferad d TR <

ATTERYT (A) 1 TR I = Gay, fUfager SR 1Sz 1 ey g T

ek (R) ST o THEIa 1 78R 3Teh! <Fa1 skl €91 § T8l SR Bl ¢ |

(1) (A) 3R (R) BT &1 & 3R (R), (A) T TE =70 5 © |

(2)  (A) SR (R) EHI ¥ T R (R), (A) 1 Tl ATRAT 7] i 2 |

(3)  (A) T T A (R) 799 T

(4} (A) e § <IfeRT (R) W& |

36. Hifeh g & STaa Has giifgatsd feear =ar €
(1) Ha &1 9faa] (2) Hens & feg dfem
(3)  Hernedl | HiEa (4)  EaErel o gieer
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37.  WEI-1 (& @ A0 ) = GE-11 (WEid e ) 3 aferd wifs 3R A 9 T 2 T

- o
Tl I ST

H=il-1 -1
(a)  SAMdH T () FAA AR 9Hm e
(b)  THEM H YU (i) Sfad F9m =i
() HTIHICTH TAY (iif)  ¥ATH YT oM TSI U
(d) gEIH (ivy Toram <=0t @M |, 9. "2 TiEgd

(@) (b} (c) (d)
(1) (i) (v) i) (@)
(2) () @) (1) (iv)
(3) () @ G v)
4) (v) (D)

U

}.. (
Il

iii)

- \
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Which of the following is an exception to the rule of strict liability 7
(1)  Defendant's own fault (2)  Statutory authority

(3)  Consent of third party (4)  Act of defendant

Malch the appropriate stalements with that of its authors :

Statement Author
(a)  The behaviour as criminal is part of the political process (i)  Klare H. .
(h)  Disobedience of law mayv be termed as a crime (i) Huda
(¢)  Crime is not absolute like sin (it1)  Terence Morris

(d)  Crime is an act committed or omitted in violation of a public  (iv) Blackstone
law

O v @ @

(3) () (v) () (i)
4 @ () ) (i)

In the absence of any evidence as to the mwens rea, in which of the cases the criminal liability
can be fixed upon a person ?

(1) Where the consequences arc not so harmful to the society.
(2)  Where there 1s no violent presumption.
(3)  The intended consequence 1s not mjurious but L"DT‘[]DIT‘IH}’ injurious on other facts.

(4)  Where an act 1s not performed wantonly.

HM 24 Paper-II
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38, TrmfoEd § o &M fameg <ga & 99 &1 37997e ¢ ?

(1) Yiqerel =1 e o1 o] (2) wifafis g
(3) AR TEFHR FI T (4)  Hidersr 1 e

39. Tr=fafEd sl sl Sk ol < |19 gafed =1

wHA GECET
(a) ST STHT STERR BT i aas Ufshar 1 9§ | (i) T TS
(b)  FRMA &1 9 1 AT S0 g 5 Gl € | (i) T
(¢)  3T9U 979 = @ fie 7= 2 (i) Ty =ife
(d) 904 9% ®F T S A A & Seee H oAl S ¢ | (iv) =TT

(@ (b) (o) (d)
(1) (v) @y () (@
2) () @) @ (@)
) O Gv) (G (i)
@ M @ @ (i)

40, U S ©Y ° o e & a1ama o T ufifeafaal | fadl safaa 1 sy & fou fer g
S Feal 2 2

(1) T 3190y & 9fiomg T9e & Tau Sa1 TRa=eras 61 & |

g

(2) STl =kl TgEeh JeEmon 4 2 |

(3)  AfqUd IR FIieRer 7 21 wifehd 370 2] o §ee H §ger &9 | 2[R 3l |

(4) STEl IS 1A Afqetad ' ¥ 72 faH w8
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41. In the application of the principle "Newmo debet proeade causa bis vexari’, what enquiries are
relevant ?

Whether the accused is not in jeopardy on the [irst indictment ?
Whether there was f{inal verdict ?
Whether the previous charge was not the same as that of the present one ?

Whether the statute directs not to have a sccond trial ?

42.  Read the following statements and state where the principles of joint liability is applicd instantly
flowing from mens rea ?

(1)
)
o)
@)

When he himsell commits a crime.
When he shares in the commission of crime.
When he, with a view Lo the commission of crime, sets some third agency to work.

When he helps the offender after commission of the crime in screening the offence.

43.  Acts done In moments of delusion are protected because :

By virtue of absence of free will,
Lack of intelligence to distinguish between good and evil.
Expediency grounds says so.

Circumstances are such that they are incompalible to the existence of Mens o,

44. Which of the factors are essential for fixing criminal liability on importing, eirls from different
territory other than India for seduction ?

(1)
(2)
(3)

@

That girl must be below the age of 21 vears,
That imported girl must be from Indian origin irrespective of age.

That girl must be from Jammu and Kashmir or any other UN recognised country and
is brought forcefully to render domestic help.

That girl is on a tourist Visa and above 21 years and 1s likely that she will be forced to
illicit intercourse.

assn ([N
I | IR O I Il Il
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‘frgt fefaz gied i fad F99R1 " THgid &1 98 0 8 -9 997 &@7d B § 7

(1) =1 ATYHE Tgel SAARMY R e § &l 30T ¥ 7

(2) o 3AfaH ee a1 7

(3) = TUSAT AT Sia o B T8l o7 ST foh S ST %

-

(4) 0 WA E TER T 1 e el <l ?

frfefEa e o1 98 3R adm & wel e gifaa 1 fagih sroofyes 97:059fd & 3@ 98
“-E \E ] %-?

(1) <79 =af=a T 7904 i ST a1 © |

(2) @ =g fHerey STUUY FI T

g,

(3) 9 9% ST H F Sevd § TR drey get i Faa e B

(4) @ 97 STUUY T 3k 9¥E YUY i fSUM H STUUl 1 FgEa H ©

HYITd o &107 § TR 770 h7dl 1 g9 RV H o=E o A ¢

(1) H&ed WaA F A 5 HR |

(2) o= SR FL o o9 T FH & Toeleh F FHI o HR |

(3) B HIHRAT SR 59 Ud F T

(4) oftfeerfam Ut 2t € o6 3 sygwries Tl w61 OeeT 6 o B € |

feleTel SR gq 9Rd § o 37 Tafy=1 &f=1 | ekl bl o & |l 9 AR <Mided T4 i
& foru fAsfafaa 9 9 =9-9 S o1avas 7

(1) 39 oTgaht = e 9 4 21 a8 ° &0 &1 59 &1 I =1 |

r

(2) R T ASHT URART & HI g ANME IS §T IHh! IY TS Ul 7T

(3) T TASHI SI-HIHN 1A W UL W WA TRt 371 <91 i ST =T8T IR ¥ie] 1Y
F o ToTU seTge= ol T gl =gy |

(4) T8 Al Tz AT ofRd STRE BT S1eT SR SHeR! 39 21 9N § AT T AR a9 A8
GYEAT BT =160 T 39 3199 v Hey o gk S |
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45. Read Assertion (A) and Reason (R) and answer using the code given below :

Assertion (A) @ There is a more continuous and systematic surveillance over industrial
disputes on the part of the government by resorting to compulsory
adjudications as the tradition of free collective bargaining has always been
weak In India .

Reason (R) : With respect to the merits and demerils of collective bargaining Vis-a-Vis
compulsory adjudications there is a serious conflict and over lapping of
VIEWS .

Code :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).

) Both (A) and (R) are true and (R} is not the correct explanation of (A).
(3} (A) is true but (R) is falsc.

) (A) is [alse but (R) 15 true.

46. Match List-I with List-IT and sclect the correct answer using the code given below the list

List-I List-II
(a)  Food corporation of India staff union (i)  Settlements are the “live wires” of the Act
v. Food corporation of India and others forensuring industrial peace and prosperity.
(b)  Virudhachalam v. Management of (i)  An unregistered trade union or trade
Lotus Mills union whose registration has been

cancelled has no right.

(c)  B. Srinivasa Reddy v. Karnataka waler (iii) Reflection of recent judicial trends
Supply and Drainage Board Employees on the interpretation of definition of
Association industry,

(d) Coir Board, Ernakulam, Cochin and  {iv)] Norms and procedure to be [ollowed
another v. Indira Dewvi PS5, and others for assessing the representative character
of Trade Union by a secret ballot system.

Code :
(a) (b) () (d)

(1) Ov) (M @) (1)
(2) () (W) ) (iv)
(3) @) @ @ )
(4) ) @ )

v) (il

{1
assy [ NNILLIR
I ! I e ! h
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45,  2Af4ERe (A) 3R eh (R) = 92 IR A= fou 70 2 #1 Jema 9 S| T
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Which one of the following is wrong ?

(1) The right to strike or declare Jock-out may be controlled or restricted by appropriate
industrial legislation.

(2)  The conciliation officers under the industrial dispules Act are charged with the duty of
acdjudication of disputes.

(3)  An interim award 1s ke a preliminary decree within the meaning of Section 2 (2) of
Code ol Civil Procedure.

(4)  The Works Committee is not authorised to consider real or substantial changes in the
conditions of service,

The Fifth Schedule, under the Industrial Disputes Act contains several unfair labour practices.
In which of the conditions of category [, it 1s required to establish that Emplover Sponsorad
Trade Union of workmen is said to be Unfair Labour Practice ?

(1)  Employees or their Trade Unmion (2)  Employee only

(3)  Lmployers or their Trade Union (4) Emplover and Employee Collectively

When a party to dispute under the Industrial Disputes Act is prevented [rom appearing al
the hearing, due to sufficient cause and is faced with exparle award, the Industrial Tribunal

has :
(1)  no power to set aside the exparte award.
(2)  only duly to set aside the exparie award.

(3)  both power and duly to set aside the exparie award which is based on the rule of
statutory construction.

(4)  oxpress provision in the Act or rules giving the tribunal the jurisdiction to sct aside the
award.

“The concept of compulsory adjudication of industrial disputes was statutorily ushered with
a view to providing a forum and compelling the parties to resort to the forum for arbitration,
so as to avoid confrontation and dislocation in industry.”

The above observation was made by one of the justice in a case decided by the Supreme
Court :

(1) Justice V.R. Krishna Tyer (2)  Justice O. Chinmappa Reddy

(3)  Justice Desai (4)  Justice Gajendragadkar
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